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Q1. 1260 3 fdbetol A1l 3D HISIG 82

How many significant figures are present in 1260 ?

(A)4 (B)3 (©)2 (D)1

Q2. A3I® CH,COOH I FcTIourcdl 301 8:

The empirical formula of compound CH,COOH is :

(ACHO,  (B)CHO, (C©)CHO,  (D)CHO
Q3.3 3MMUd URA 1.5 M NaCl @I 300 ml 3, Al 31U 4.5 M NaCl &b fdbdol ml doll
ADA 8?

If you have 300 ml of 1.5 M NaCl , how many ml of 4.5 M NaCl can you make ?

(A)100 ml (B) 200 ml (C) 300 ml (D) 400 ml

Q4. forFotfetRad 3t 3 fep1di U3 b 1 AR 3iferD Sloft?
Which of the following will have largest number of atoms ?
(A)l g Au (B)lg Na (O)1gLi (D) 1g(l,
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Q5. ,;Br* i sciaciol, UIciel 3iI sRIgTol bl JRIT Dl SIUIGIT D3 |
Calculate the number of electrons , protons and neutrons in ,Br™ .

(A)35, 45,35 (B) 35,35, 45

(C)35,36,45 (D) 36,35, 45

Q6. 10 m/s T daI A SIfcIdIal 0.1 kg GoRIdIol bl U 9iG bl AZeIGeR! a=ll alafl ?
What will be the wavelength of a ball of mass 0.1 kg moving with a velocity of 10 m/s ?
(A) 6.626 x 10 m (B) 6.626 x 10" m

(C) 6.626 x 10’ m (D) 6.626 x 10™* m

Q7. BIsSIolol JUdcA i Al - YFIDIRI FUdCH D €93 8171 4 [&a1s Sol aretl
il i Joft &:

(A) cirsdiol vt (B) b5 Jufl
(C) 91912 Auft (D) urQIol 2Iuft

The series of lines in the hydrogen spectrum which appear in the visible region of

electromagnetic spectrum is :

(A) Lyman series (B) Pfund series

(C) Balmer series (D) Paschen series

Q8. fotgotfctlRa i A Dlol 2t TdicH AT Ddeid D Pifdeti=r = oI uf3stid
DAL 8 ?

(A) I qACHIRAT  (B) Jlotoflr aaica e

(C) qabII qdice JAT (D) UKIhUI Jaics AT

Which of the following quantum number defines the three dimensional shape of orbital ?

(A) Principal Quantum number (B) Azimuthal Quantum number

(C) Magnetic Quantum number (D) Spin Quantum number
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Q9. IR TAICH I n = 3 A AT DIl bl Pet AcAT T Blefl 82

What is the total number of orbitals associated with the principal quantum number n =3 ?
(A)0 (B) 3 €6 D)9

Q10. fotForfc1Rad 3 A Dot 2t Sdioficl CH, b AreI AA-3RI6H 82

Which of the following species is isoelectronic with CH, ?
(A) Na (B) Ar (C) Ne (D) Mg

Q11.F, O, N 3II2 Cl, 3 A [ cded Dl BUIIcHD Scidciol clfoe] Uodledl a3 3ifeid

N

&8?

Out of F, O, N and Cl, which element have highest negative electron gain enthalpy ?
(A)F (B) O (C)N (D) Cl

Q12. forgotfetRad 9 A fop 2utofior DI DR AT IST 3112 A=A BICT & ?
Mg, Mg, Al, AI’'

Which of the following species have the largest and the smallest size ?
Mg , Mg2+ JAL, Al

(A) Mg and Al (B) Mg and AI*

(C) Al and Mg (D) Al and Mg”’

Q13. d -sclich & dirdi DI II& ScIdciiold eI 3:

The general outer electronic configuration of d — block element is :

(A) (n-Df'™ (n-1)d”" ns’ (B) ns'”

(C) (n-1)d"""ns'"? (D) ns’np"°

Q14. BeCl, I {&¢Id 31t 8:

The dipole moment of BeCl, is :

(A1 (B)2 3 (D)o

Ql15. O, I 3TE-DIfE 3:
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The bond order of O, is :
(A1 (B) 2 ©)3 (D)0

Q16. SIeT & 31U DI DR 3 :

(A) Spctl (B) T-3PDIe
©)HSI5s (D) agepeTchi
The shape of water molecule is :

(A) see saw (B) T - shape
(C) Bent (D) Tetrahedral

Q17. CH, 3 C @I ADIVI T3 ?

What is the hybridization of C in CH, ?

(A) sp (B) sp’

(C) sp’ (D) sp’d

Q18.278ft Acal bt vedcdl Jorchl el - sraen i aldl 3:
(A) SDIS (B) 9l

(C)<0 (D) 31ft Acal &b fe1e fdrea1 8ldl 8
The enthalpies of all elements in their standard states are :
(A) unity (B) zero

©)<o0 (D) different for each element

Q19. Udb Uchd P Al uff3erferli 91 8lol & fore , I8l Bafiias 3 :

For the process to occur under isothermal condition , the correct condition is :

(A)q=0 (B) Aq=0 (C) AT=0 (D)T=0
Q20. 3ifdifep=Ir 2C1 (g) ---------- >Cl, (g) ; dfeE, AH 3R AS & RIog a9 8
For the reaction, 2Cl (g) ---------- > Cl, (g) ; the signs of AH and AS are

respectively ?
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(A) +ve & -ve (B) -ve & -ve (C)+ve & +ve
(D) -ve & +ve

Q21. f3eR Gara sii= arustrel uz sifdifepen &bt Taa:uafdiar oI AeiGs 3:
The criteria for spontaneity of a reaction at constant pressure and temperature is :
(A) AH>0 (B)AS<0

(C)AG<0 (D) AG>0

Q22.H=U+PV P AN, U GIATAI3:

(A) ATdHIHD ol (B) forea1 3>ail

(C) el 3ol (D) 3AR® Holl

In the relation, H=U + PV , U represents :

(A) universal energy (B) gibbs energy

(C) thermal energy (D) internal energy

Q23. CaCO, () -------mm==- > CaO (s) + CO, (g) , SURD 3ifdHichaII b feTe ATe=IIazen
f3eRI® (K, ) DI =ISId Blol :

CaCoO; (s) --------- > CaO (s) + CO,(g) , the expression for the equilibrium constant
(K,) for the above reaction will be :

AK - [ CaCO3] BK - [ cO2]

(A K= [CaO0] (B)K.= [CaC03]

oK, = 122 D)K,=[ CO

( ) c [CaCO3] ( ) c_[ 2]

Q24. H,0 I Agddl 31ocT Blot :

the conjugate acid of H,O will be:

(A)H' (B)OH™ (C) H,0" (D) none of these
Q25. qui fd=iTSTet dleld 88, 0.0001 M HCI fafcriel a1 P S @2 :
Assuming complete dissociation, calculate P" of the 0.0001 M HCI solution :

(A)1 (B) 2 ©)3 (D) 4
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Q26. 2H,(g) + CO(g) <=======> CH,OH (g) 3If3IcbI P APATTIe U2 H,
SIS ol I d=IT U9IId BIeI:

(A) sifdrfcpen sifdrpRal &I 3R 3ERI¥d el
(B) AMRIAIUI U2 DIS U olal Sloll

(C) 3ifd1fcp=II 3curcl i 3MI2 eIt aloit

(D) Soldi A IS olal

Describe the effect of addition of H, on the equilibrium of the reation:
2H,(g) + CO(g) <======> CH,0H (g)

(A) reaction will proceed in the direction of reactants

(B) no effect on equilibrium

(C) reaction will proceed in the direction of products
(D) none of these

Q27. H,S0, 3 S i sifafiasaur - I a=I 38 2
What is oxidation state of S in H,SO, ?

(A)O (B) 2

(C) 4 (D) 6

Q28. 501d1 A Plol Al FUteftst sR1sIo[uIde! Udfel o1&l Goridl & : Which of the

following species does not show disproportionation tendency:

(A) ClO™ (B) ClO,” (C) CIOo;” (D) ClO,”
Q29. (CH,),CCl @I IUPAC ol &:

(A) AARI RIS dIASS (B) 2 - TelIRl -2- f3renmserditor

(C) cIsfdrensel diArss (D) 2 - f3rersel -2- aellRIsIcol

The IUPAC name of (CH,),CCl is :

(A) tert. Butyl bromide (B) 2- Chloro — 2- methyl propane

(C) trimethyl bromide (D) 2 — Methyl — 2 chlorobutane
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Q30. distlel (CH, ) 3 Bioa (o) 3R urs (I1) dis bl et A1 glsfl

The total number of sigma (&) and pi (II) bond in benzene ( C,H, ) will be
(A) 6&6 (B) 12&6
©) 12&3 (D) 3&3

Q31. H,C=0 3 C bl DI BloI:
The hybridization of C in H,C=0O will be :

(A) sp (B) sp’
(C) sp’ (D) sp'd

Q32.fotFoifc13aa 31 21 Dol olfdbIell b FU I PRI olal DIl ?
Which of the following will not acts as nucleophile ?

(A) NH, (B) CI'

(©)Cr (D) H,0

Q33. CH,CH,0CH,CH, 3II? CH,0CH,CH,CH, Ji UIU SiIol dlIci ¥dollcHAD
JHIARIAA] DI UDR 3:

(A) SRACI  AAAAAAL (B) f3erfel  AsATa=Iacn
(C) foparcaras 391 Jdragadr (D) HEATARIAAT

The type of structural isomerism found in CH,CH,OCH,CH; and CH,0OCH,CH,CH; is:

(A) chain isomerism (B) positional isomerism

(C) functional isomerism (D) metamerism

Q34. q ufcrzenfu fS51o8 BIsSISIor d AMET 3 ScIdciol-3Mbul 29I d U I doffpd
olél fopar i Al &

The substitutents that can not be classified as electron — withdrawing groups relative to

hydrogen 1is : (A) -NO, (B) -R
O X (D) -CN

Q35.CH,CH=CH, + HBr -------—---—- > A : CATE

(A) 2 — SisAUIUGT (B) 1 — SieATYor
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(C) 3 — slidAUIUol (D) Ultel

CH,CH=CH, + HBr --—---—--—---- > A ; A IS
(A) 2- Bromopropane (B) 1 — Bromopropane
(C) 3 — Bromopropane (D) Propane

Q36. 333 K UR IRTIRD Acbe 311 ol ACRIRD 31Fcl i Iufderfe 3 werrsof i
SIcT O RIISTol 2 UTd 81l &

The addition of water to ethyne in presence of mercuric sulphate and dilute sulphuric acid
at 333K gives :

(A) CH,CH, (B) CH,CHO

(C) CH,OCH, (D) CH,=CH,

Q37 .13l oft foraper O DG AT usidia 3ol & f1u smagd 9Kt 28 :

(A) AAACHIAT  (B) ACRI & $cidglol Pl AUUi fdzelofidur (C) et fora
(D) $old1 3 it

The necessary conditions for any system to be aromatic are :
(A) Planarity (B) Complete delocalization of pi electron in ring
(C) Huckel rule (D) all of these

[Sh SO
Q38. CH,Cl + 2Na +CICH, “———> CH,CH, + 2NaCl ;331 3If3ifopaIr &Y 5

25U 3 SiToll SIIdl &

(A) DIy 3fdIfp=m (B) fdpifeactiasaur sifdifcpen
(C) iIsc -cprue 3ifdifcpar (D) gt sifdrfcpen
dry ether ) ..
CH,CI + 2Na + CICH; ——> CH,CH; + 2NaCl ; this reaction is known as :
(A) Kolbes reaction (B) Decarboxylation reaction
(C) Friedel -craft reaction (D) Wurtz reaction

Q39. forFarfei¥ad 3t dlor ARG sidel 3 scIacTol fdzenust ol 361321 old] 3 :
(A) URI0ID Ui (B) 3IoJolIG Ui
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(C) 3Ife>IIodIol (D) 3I=—1dol

Which of the following is not an example of electron displacement effect in covalent bond

(A) Inductive effect (B) Resonance effect

(C) Hyperconjugation (D) Distillation

Q40. 3Aig H,SO, P Iuf3eIfel 3 velloiic] Pl fosiciidb2uT ool U2 UTH BIdl & :
conc.H2504
CH,CH,OH ——————> ?
443K

The dehydration of ethanol in presence of conc. H,SO, gives :

conc.H2504
_— 9
443K

(A) CH, (B) C,H, (©) CeH, (D) C,Hg

CH,CH,0H
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